Test Information

Test Name MPSC 2023 GROUP-B SET 4 Total Questions 100
Test Type Examination Difficulty Level Difficult
Total Marks 200 Duration 120 minutes

Test Question Language:- ENGLISH

1. Which institution published the ‘Trade and Development Report 2023°?

a. WEF

b. IMF

c. NITI Aayog
d. UNCTAD

Answer. d

2. Which High Court has prohibited the use of cellphones inside temples?

a. Madras High Court
b. Delhi High Court

¢. Bombay High Court
d. Calcutta High Court

Answer. a

3. In which state did Chief Justice of India D Y Chandrachud launch the district court digitization hubs (DCDH)?

a. Andhra Pradesh
b. Odisha

c. Uttar Pradesh

d. Madhya Pradesh

Answer. b

4. Which organisation signed an agreement with the Union Ministry of Power to establish early warning systems for vulnerable hydro projects?

a. DRDO
b. ISRO
¢. BHEL
d. HAL

Answer. a

5. Which Union Ministry is in charge of creating Eco-Parks on reclaimed land and promoting mine tourism?

a. Mines Ministry
b. Steel Ministry
¢. Power Ministry
d. Coal Ministry

Answer. d

6. What organisation published a disaster management plan for the power sector?



a. REC (Rural Electrification Corporation)

b. PFC (Power Finance Corporation)

c. CEA (The Central Electricity Authority)

d. CERC (Central Electricity Regulatory Commission)

Answer. ¢

7. What is the rank of India in the ‘Global Innovation Index 2023°?

Answer. ¢

8. What is projected India's GDP growth this fiscal year, according to a recent prediction by the Asian Development Bank?

a.7.10%
b. 6.30%
¢. 5.60%
d. 8.90%

Answer. b

9. Which state launched ‘Mobile Van Program’ to boost Natural Farming?

a. Odisha

b. Arunachal Pradesh
c¢. Himachal Pradesh
d. Rajasthan

Answer. ¢

10. Which country launched the ‘Hwasong-17’ or the Monster missile?

a. North Korea
b. China
c. Israel
d. Japan

Answer. a

11. Which country celebrated the official launch of its first liquefied natural gas terminal?
a. Italy

b. Spain

c. England

d. Germany

Answer. d

12. Which nation has joined the NATO security alliance as its thirty-first member?

a. Denmark



b. Norway
c¢. The Netherlands
d. Finland

Answer. d

13. Which of the following women represented India at the second Round Table Conference in relation to the Indian Freedom Struggle?

a. Sucheta Hriplani

b. Aruna Asaf Ali

¢. Vijayalakshmi Pandit
d. Sarojini Naidu

Answer. d

14. Who was India's Viceroy at the time of the Jallianwala Bagh Massacre?

a. Lord Irwin

b. Lord Chelmsford
c. Lord Hardinge

d. Lord Curzon

Answer. b

15. The first movement started against the British in India was :

a. Non-Cooperation Movement
b. Swadeshi Movement

¢. Quit India Movement

d. Khilafat Movement

Answer. b

16. Who founded India's first women's university?

a. Dhondo Keshave Karve
b. Rani Ahilya Devi

¢. J.C. Kumarappa

d. Mahatma Gandhi
Answer. a

17. The name of the prominent Indian who returned the knighthood conferred upon him by the British Government in 1919 as a symbol of protest against
the crimes in Punjab was:

a. Syed Ahmed Khan

b. Ashutosh Mukherjee
¢. Rabindra Nath Tagore
d. Tej Bahadur Sapru

Answer. ¢

18. Who was known as the 'Father of Indian Unrest' by British rulers?

a. M. K. Gandhi



b. Subhash Chandra Bose
c. Bal Gangadhar Tilak
d. Gopal Krishna Gokhale

Answer. ¢

19. Which of the following was elected as the President of the Central Legislative Assembly in March 1925?

a. Madan Mohan Malaviya
b. CR Das

c. Vithalbhai Patel

d. Motilal Nehru

Answer. ¢

20. Who was the first woman President of the Indian National Congress :

a. Annie Besant

b. Kasturba Gandhi

c. Sarojini Naidu

d. Vijayalakshmi Pandit

Answer. a

21. Subhash Chandra Bose beat who during his re-election as President of the INC at the Tripuri Session in 1939?

a. J.B.Kriplani

b. Pattabhi Sitaramaiyya
c¢. Rajendra Prasad

d. Abul Kalam Azad

Answer. b

22. In which year did Revolutionary Udham Singh avenged the Jallianwala Bagh murder by assassinating Michael Francis O'Dwyer?

a. 1942
b. 1940
c. 1932
d. 1935

Answer. b

23. In which state Mahatma Gandhi was born?

a. Rajasthan

b. Madhya Pradesh
c. Gujarat

d. Assam

Answer. ¢

24. Who founded the Swatantra Party?

a. Bal Gangadhar Tilak

b. Gopal Krishna Gokhale



c. Dadabhai Naoroji
d. C. Rajagopalachari

Answer. d

25. Which Indian city processes 90% of the world's tiny diamonds?

a. Mumbai
b. Surat

¢. Kanpur
d. Bhopal

Answer. b

26. Which of the following is Andaman and Nicobar Islands' highest peak?

a. Mount Thuiller
b. Mount Koyale
¢. Mount Diavolo
d. Saddle Peak

Answer. d

27. Which of the following Indian river valleys was formed as a result of intense gully erosion?

a. Chambal

b. Brahmaputra
¢. Damodar

d. Ganga

Answer. a

28. Which of the following states is home to the Gurudongmar Lake, which bears the name of the Guru Padmasambhava?

a. Uttarakhand
b. Sikkim

¢. Tripura

d. Meghalaya

Answer. b

29. In which year following independence did India conduct its first census?

a. 1967
b. 1987
c. 1954
d. 1951

Answer. d

30. Which is the longest river in South India?

a. Godavari

b. Tungabhadra

¢. Narmada



d. Krishna

Answer. a

31. Which of the following geographical words best depicts a body of land surrounded by water on three sides?

a. Peninsula
b. Gulf

c. Strait

d. Island

Answer. a

32. Which of the following passes crosses the Pir Panjal range and connects Manali and Leh by road?

a. Mana Pass

b. Niti Pass

c¢. Nathula Pass
d. Rohtang Pass

Answer. d

33. Kalgoorlie and Coolgardie, both gold mining towns, are situated in:

a. India

b. Australia

c. South Africa
d. New Zeland

Answer. b

34. Who was the first to put forward the convectional current theory in geography?

a. Carl Ritter

b. Arnaldo Faustini
c. Arthur Holmes
d. Immanuel Kant

Answer. ¢

35. In which state Saffron is exclusively produced?

a. Jammu and Kashmir
b. Madhya Pradesh

c. Sikkhim

d. Maharashtra

Answer. a

36. The headquarters of the International Astronomical Union (IAU) is situated in:

a. Geneva
b. Paris
¢. Mexico City

d. New York



Answer. b

37. What is the minimum age specified by the Indian Constitution for a candidate to be elected as India's Vice President?

a.21
b. 25
c.35
d. 45

Answer. ¢

38. In which year did Sikkim join the North Eastern Council?

a. 1992
b. 1996
¢. 2000
d. 2002
Answer. d

39. Which of the following Constitutional articles has the provision for a Finance Commission to resolve the revenue-sharing arrangement between the
states and the Centre?

a. Article 260
b. Article 265
c. Article 270
d. Article 280

Answer. d

40. Who appoints the chairman of UPSC?

a. President

b. Prime Minister
c. Parliament

d. Cabinet

Answer. a

41. How many sections are there in the Environment Protection Act of 1986?

a. 25
b. 26
c. 27
d. 28

Answer. b

42. Which of the following rights was restricted by the Preventive Detention Act?

a. Right to Equality
b. Right to Freedom
c. Right to Property

d. Education Right



Answer. b

43. Which Article of the Indian Constitution contains certain provisions with regard to the state of Maharashtra?

a. Article 370
b. Article 371
c. Article 372
d. Article 373

Answer. b

44. Which Schedule of the Indian Constitution lists India's states and union territories?

a. First Schedule
b. Second Schedule
¢. Third Schedule
d. Fourth Schedule

Answer. a

45. How many tiers are there in the Indian Panchayati Raj system?

a. One-tier
b. Two-tier
c. Three-tier
d. Four-tier

Answer. ¢

46. How many positions in the Panchayati Raj system have been reserved for women at all levels?

a. 1/3rd
b. 1/4th
c. 1/5th
d. 1/6th

Answer. a

47. Which of the article deals with the grants aided by the Union government to the states?

a. Article 275
b. Article 280
c. Article 285
d. Article 290

Answer. a

48. Which of the following articles deals with the election of the Vice-president?

a. Article 62
b. Article 64
c. Article 66
d. Article 68

Answer. ¢



49. In which year did the UN General Assembly establish the Commission on Sustainable Development (CSD)?

a. 1990
b. 1988
¢. 1992
d. 1995

Answer. ¢

50. Social, economic and ecological equity are the necessary requirements for achieving

a. Social development

b. Economical development
c. Sustainable development
d. Ecological development

Answer. ¢

51. The maximum number of people that a certain environment can sustain is referred to as

a. Carrying capacity

b. Environmental resistance
c. Population size

d. Biotic potential

Answer. a

52. Mineral and metal extraction from the earth is called:

a. Transportation

b. Agriculture

¢. Mining

d. Sustainable development

Answer. ¢

53. The full form of MPCE is:

a. Minimum per capita expenditure
b. Monthly per capita expenditure
¢. Maximum per capita expenditure
d. None of these

Answer. b

54. In which year did India's National Food for Work Programme start?

a. 2007
b. 2004
¢. 2010
d. 2009

Answer. b



55. The United Nations has established a total of how many Sustainable Development Goals (SDGs)?

a. 17
b. 14
c.20
d. 18

Answer. a

56. The Un-Conference for Environmental Sustainability is often recognized by the United Nations World Summit was held on-

a. Rio de Janeiro, 2010
b. Rio de Janeiro, 2011
¢. Rio de Janeiro, 2012
d. Rio de Janeiro, 2013

Answer. ¢

57. The theme of Financial Literary Week 2022 is:

a. Credit Discipline and Credit from Formal Institutions
b. Go Digital, Go Secure

¢. Micro, Small and Medium Enterprises

d. None of these

Answer. b

58. Which ministry is responsible for the report on India’s national and per capita income?

a. Ministry of Home Affairs

b. Ministry of Planning

¢. Ministry of Human Resource Development

d. Ministry of Statistics and Programme Implementation

Answer. d

59. ASEAN stands for:

a. Association of South East Agro Nations.
b. Alliance of South East Asian Neighbors.
c. Association of South East Asian Nations.
d. Alliance of South Eastern African Nations

Answer. ¢

60. Income inequalities are often shown on a

a. Production possibility curve
b. Sen curve

¢. Marginal inequality curve
d. Lorenz curve

Answer. d

61. What is the reproductive part of a flowering plant?



a. Stamen
b. Pistil

c. Anther
d. Pollen

Answer. a

62. What is the process by which plants grow towards a light source?

a. Geotropism

b. Hydrotropism
¢. Thigmotropism
d. Phototropism

Answer. d

63. Which phylum do insects belong to?

a. Mollusca
b. Chordata
c. Annelida
d. Arthropoda

Answer. d

64. Which organ is responsible for producing insulin in humans?

a. Lungs
b. Liver
c. Kidneys
d. Pancreas

Answer. d

65. What is the process to maintain a relatively stable internal environment?

a. Adaptation
b. Evolution

¢. Metabolism
d. Homeostasis

Answer. d

66. What is the term for the process of eliminating all forms of microbial life?

a. Disinfection
b. Sanitization
¢. Decontamination
d. Sterilization

Answer. d

67. What is the recommended way to cover your mouth and nose when coughing or sneezing?



a. Use your hands

b. Don't cover your mouth and nose
c. Use a mask only

d. Use a tissue

Answer. d

68. What is the recommended method to properly clean and sanitize hands when soap and water are not available?

a. Use a hairdryer

b. Rinse hands with water only

¢. Rub hands with a cloth

d. Use hand sanitizer with at least 60% alcohol

Answer. d

69. What is the chemical symbol for potassium?

a. Ko
b. Ka
c.P
d.K

Answer. d

70. Which animal among these is known for its ability to change color?

a. Dolphin

b. Eagle

c. Cheetah

d. Chameleon

Answer. d

71. What is the phenomenon in quantum mechanics where particles can be in multiple states or locations at once called?

a. Wave-particle Duality
b. Quantum Tunneling
c. Entanglement

d. Superposition

Answer. d

72. Which among these metal is stored under oil to prevent from reacting?
a. Argon

b. Aluminium

¢. Copper

d. Potassium

Answer. d

73. Which phylum includes organisms with radial symmetry and stinging cells?

a. Platyhelminthes



b. Echinodermata
¢. Mollusca
d. Cnidaria

Answer. d

74. What is the value of: 80% OF 1880

a. 1504
b. 1204
c. 1304
d. 1860

Answer. a

75.x =130y =85 (X+Y+Z) /2 = 330 What is the value of the largest number?

a. 130
b. 775
c. 675
d. 875

Answer. b

76. The average speed of a bus is 110 miles per hour. The total time is 8 hours, Find the distance

a. 790
b. 840
¢. 880
d. 820

Answer. ¢

77. Find the area of an equilateral triangle, if side = 10cm

a.43.3 cm”2
b. 42.8 cm”2
c.41.4 cm”2
d. 39.8 cm”2

Answer. a

78. Find the missing number in the following series X+3*2-5+8%16=0

b.3
c.?2
d.-3

Answer. a

79. What percent of 5 is 11?

a. 220

b. 110



¢. 250
d. 80

Answer. a

80. The daily wage of a worker is ¥1100. What will be his earning for a week?

a. 7700
b. 7650
¢. 7780
d. 7750

Answer. a

81. Find the value of y: 5x+12y=20 20x+6y=20

a. 10/7.0
b. 4/7.0
c.5/4.0
d. 12/7.0

Answer. a

82.12-4+11x3+6="7

d.6

Answer. d

83. What is the square root of (133-1+35+2)

a. 13

Answer. a

84. LCM of 36 and 45

a. 170
b. 160
c. 180
d. 150

Answer. ¢

85. HCF OF 16 and 24

a. 12

b. 6

c.8



d.3

Answer. ¢

86. The price of 10 chairs and 2 tables is 800 rupees. The price of one table is 100. What is the price of one chair?

a. 60
b. 50
¢. 80
d. 90

Answer. a

87. a+b=3 a"2-b"2=9 a-b=?

c.6
d. 4

Answer. a

88. Economic growth can be measured by

a. CPL
b. GDP
¢. CBI
d. MPC

Answer. b

89. According to W.W. Rostow, there are how many stages of economic growth:

a. Two
b. Five
c. Six
d. Three

Answer. b

90. The full form of OPEC is

a. Organization of Problematic Economies Committee.
b. Oil Producing Economies Caucus.

¢. Organization of Pre- European Commission.

d. Organization of Petroleum Exporting Country.

Answer. d

91. The 'big-push' development strategy was first proposed by:

a. Simon Kuznets
b. Paul N-Rosenstein-Rodan
c. W.A Lewis

d. A.O.Hirshman



Answer. b

92. If Kamal says Ravi's mother is the only daughter of my mother How is Kamal related to Ravi?

a. Maternal uncle
b. Brother

c. Father

d. Data inadequate

Answer. a

93. Ravi is 7 ranks ahead of Sumit in a class of 39 if Sumit's rank is 17th from the last. What is Ravi's rank from the start?

a. 14th
b. 15th
c. 16th
d. 17th

Answer. ¢

94.5147398572631586385224349 6 How many odd numbers are there which are immediately followed by odd number?

a. More than 4
b.2
c. 4
d.3

Answer. a

8|7
13
10|14 1

95. Find the missing number.

a. 11
b.9
c.7
d.5

Answer. a

96. How many 6 will you encounter between 1 to 70?
a. 17

b. 18

c. 19

d. 20

Answer. a

97. If Ram weighs 120 KG on earth. What will be his weight on moon?

a. 20N



b. 180N
¢. 240N
d. 40N

Answer. a

98. A, B, D, G, K. Which letter comes next in the sequence?

b.K
c. N
d.O

Answer. a

99. Palindrome is a word which reads same as forward as forwards. "Senile Felines" is a palindrome?

a. True
b. False

Answer. a

100. 5,000,000 nanometers (nm) is to 5 millimeters (mm) as 45,000,000 nm is to?

a.0.45
b. 0.045
c. 450
d. 45

Answer. d
Test Question Language:- HINDI

1. HlU R AR i SN srgared 2023 USRI Har?

a, SEETH
b. STITHIG
c. At smam
d. gETEidest

Answer. d

2. PN T AT TR JABH aTRUGR F1S ol 318?

a. TSN I e
b. i 3= <ame™
c. 4§38 = e
d. FIHA I TR

Answer. a

3. YRR &1 i §1 a1 dags g v A et ard fEfvermeitd $ g bt (DCDH)?

a. 37y YR



b. sife=m
¢. IR W™
d. 97 uew

Answer. b

4. 3RfEa Srafaggd Twhearardt gd Jaraolt Joumeht R HRUGIST Hion TR Ha SHal HAeRl HRR Har?

a. Sttt
b. 5=

c. divagua
d. wEEE

Answer. a

5. B FEG A GRT gah MBI e SH-UIh qaR SRR SfY Wror ufedrar araHn S0 H1 R ?

a. QU HATT
b. UreTE FAd
¢. Soll e

d. Hrear T

Answer. d

6. DU IR G AFIST ORI FARITAA roiT THIRI PHeit?

a. REC (amfivr faggdiarur qeriss)
b. PFC (UfaR BT HIaRS)

c. CEA (g fagga miiyeun)

d. CERC (¥t faqyd frames amim)

Answer. ¢

7. TEd SR S 2023 A HRATET HHIG PTT 3MR?

Answer. ¢

8. TRrEA Sgaude TH1 JHA™ HA SGSAR A1 e aufa yRdren S adtan siee s 3mR?

a.7.10%
b. 6.30%
€. 5.60%
d. 8.90%

Answer. b

9. BT I e e I TARIS HERT B BRGH & HaAl?

a. shfem

b. SREUET YT



c. fgara v
d. 5=

Answer. ¢

10. FIUAT <RM 'Hwasong-17' fdar AlRex &Uumea gaftd oa?

a. I il
b. F9

C. ¥

d. SaH=

Answer. a

11. HIUAT IIH SA0eT Ufged gdyd S9fie arg < sfiigpa yagor JoR Fa?

a. gcdll
b.
c. S
d. S

Answer. d

12. B0 1Y NATO JR&M SHOSd USHiadd 9ad WU IHle S 3H1e?

a. $H
b. A

R AGET
d. fiies

Answer. d

13. URA Widdedrl JeuH ga=ar Mals IRYSd @aiets! Hum Afigas YRa ufaffia Fa?

a. gIdl HUAr

b. 3REUN S 3l
c. facrmaedt dfga
d. WS T8

Answer. d

14. SRRACIET S SATBISTT 32! HRAR ®RIWRIG B0 ga?

a. e Smafd
b. TS ITTBIS
c. @ g
d. S P

Answer. b

15. yRame fofexifars & It ufeeh J@ae woe:

a. I-UEHR IBID
b. WX IS

¢. B! YRd TBIB



d. feawd I@as

Answer. b

16. YRaT ufge Afgan fayfaemdits Hioft wimom Fae

a. 4iS) pu@ B
b. o7t sifgear It

c. 9. . FERE
d. TgTeT e

Answer. a

17. 1 7@ YRR 19 $ g W deremdia T Aoy BuE 1919 9 ey WReRA & 95Td Fdar Asegs e wRa Fan:

a. T3 g TH

b. 3TAY Goif
c. a5 Y TR

d. 39 TEIR Y

Answer. ¢

18. fofew TsawafgR "WRA SRidae SHe' WU HIOMAl f@@d o 3{?

a. TH. &. T

b. Uy ¥ SN
c. 915 MR s
d. MU HO7 TRaa

Answer. ¢

19. Trefidie! HUmt A 192508 Hegad! RAyFEa e BUE fas ge?

a, HeA Hige Hieda
b. 3R TN

¢. TEUWTE Ued
d. Aidiae e

Answer. ¢

20. YR AT BRI Ufgedn AfGe SIET ST B

a. &t sgfe

b. FeRaT et
c. WIS Trrg
d. fasamaeht dfea

Answer. a

21. 1939 well Brgdt iféd=mra INC & 3femef %0 Te1 fHag Sfeied JToeis s FiH SO WRIHd ba?

a. 3. &t Fuart
b. ugndt Ryarmaar



¢. NG TG
d. 3fegq HAM 3T

Answer. b

22. wifdeRe 3yd R gt S aff aoda wRM sisarer ikt §@T S Sfe™-aral SN gaTdbismEl Seal gqar?

a. 1942
b. 1940
¢. 1932
d. 1935

Answer. b

23. TgTe Tiefen S HIvrT IS e?

a. ST
b. A& TR
¢. ToRTd
d. 3maH

Answer. ¢

24, [T U RO HION Hel?

a. 91 TR fews
b. MU FOT 7RIS
¢. TETHTE RISt

d. ¥ ey

Answer. d

25, HIUAT YR RS SR 90% A =iy ufesar et Sa?

2. 4
b. T
¢. HER
d. Wiyt

Answer. b

26. TWRAU®B! HIUG A 3T FBlaR Jefadld Jafd 99 RRR 3me?

a. AIe YEeR
b. AT BRAA
c. Arge fmdia
d. ¥ea AR

Answer. d

27. TEaue! BT AT TR dig T g gioarEr g BUH dOR Sa?

a. Iod

b. SR
¢. R



d. 7

Answer. a

28. TSal®! BT AT RESITHAR W TR, e s TREHAE 19 TSa 3M8?

a. TS

b. RpH

c. Agx
d. T

Answer. b

29, WAAHR AT I8 YRA 3ol afeet ST def?

a. 1967
b. 1987
c. 1954
d. 1951

Answer. d

30. famr yRardld Fafd T T P 3mR?

a. Mty
b. g1
c. THaT
d. Fon

Answer. a

31. Treieriet Hor HMfae Wsg @7 a0 TvaH deded YHRTE aiad gui dRal?

a. Ufgenm

b. M@

c. TG
d.s¢

Answer. a

32. @efiata! P e IR Uieie TdaiiT UR 6d 3Mfdr HAel @ Agdl TAM Sisa?

a. vH s
b. fdl s
c. Tya s
d. g s

Answer. d

33. Faal 3 Haret, Sl e i WER, 3 T smea:

a. YRd
b. siteferar

c. Glamor anfiker
d. gires



Answer. b

34. e Fag adA Rigia ASUR ufge S gha?

a. F1d ReR
b. 3ffesT Bk
c. 3R g
d. 3Hgua s

Answer. ¢

35. AT I THAGYO HIRME IAE Bdd Sd?

a. S 30T HIHR
b. AT TR

c. Rrewtm

d. TERTY

Answer. a

36. SeizHa SeHitea gae (IAU) geaed 39 efle:

a. fomar
b. TRE
c. AT /R
d. =guid

Answer. b

37. HRdE TEeER FMYiRa FTgER HRA IIWIPA WU Fased S JHCARME [PAM a9 F1 31R?

a. 21
b. 25
¢35
d. 45

Answer. ¢

38. pivn oo Rifdrn IR ydl oRwemed Tgurtt gm?

a. 1992
b. 1996
¢. 2000
d. 2002

Answer. d

39. WATIS! BT YIS STdarmed Is9 AT $% Jrdia Hegd aeurl awl Jequanrs! [T it @ag 3ma?

a. 3g=e 260
b. 3 T=e 265
¢. 3THg 270
d. 3= 280

Answer. d



40. UPSC= sremgfidt Fg&it Hivr H=a?

a. Pyt
b. dauer
c. §9q

d. Tiids®

Answer. a

41. 198651 TafaRul W01 HEAMS fdt FaR sma?

a.25
b. 26
c.27
d.28

Answer. b

42. TS HUEN GRIR UAeUHD fch HRGH et °rael gidt?

a. IO SRR
b. WA= SHBR
c. ATl SHRIBR
d. Rigumrn SR

Answer. b

43. YR ITHS A BT SFTBHE HERIY IR Heifdd $rel ARy wadt safay smea?

a. 3g=e 370
b. 3= 371
¢. 3T 372
d. 3srT=g 373

Answer. b

44, YR g BT STGAHE URARN Y AT HERG eI ardl emg?

a, ufgeht orggEh
b. ga8 gyl
c. ol ot
d. e g

Answer. a

45. YRdT TErEd A9 yomeliae) fedt TR emRd?

a. Uh-TR
b. TF-TR
¢, TH-\R
d. IR-TR

Answer. ¢



46. TTTEE A9 YUTCRAYY fRdt U¢ Id Wi Afeaidt g mea?

a. 3/1
b. 4/1
c.5/1
d. 6/1

Answer. a

47, TEadSt HUE e s WHRA Aol fecedr Aedieh Tafig smg?

a. 3= 275
b. B 280
¢. 3TDg 285
d. 3= 290

Answer. a

48. TEATUST BV e IR HasusiRt Tafia emR?

a. 3TRE 62
b. TG 64
¢. 3TDG 66
d. 3T=g 68

Answer. ¢

49. UN 91 909 Sioren auf nmyd e s Rimoer &t (CSD)?

a. 1990
b. 1988
c. 1992
d. 1995

Answer. ¢

50. % UG HROTEIST A, e 3for yafarufia T a1 sfa=ae TR 3Hed

a. gHIee ey
b. e faem
c. g fasra
d. wafeRvi fyem

Answer. ¢

51. waren oty wuieona g o= diwren wae SR o Wed faer smar

. &7 &Hdl

b. TafaRviT HfieR
c. APHSIT SHRAA
d. 3 e

Answer. a

52. pdinyA WS Snfdr Ui Srevaren fhddr o ed o



a. dEqH
b. oAt
¢. TUBH

d. Ty fae

Answer. ¢

53. MPCE 3 {0 &Y RU:

a. fomm ® % wd
b. AIRF R S T
. PAE R I T
d. TUS! HIoRE! R

Answer. b

54, oA aff YR SHE TEAd 3 HRIGH T& Fa?

a. 2007
b. 2004
¢. 2010
d. 2009

Answer. b

55. Tgad T WM THU fHd My e 3RP (SDG) WvH Het sga?

Answer. a

56. TATARUTE MYTAETS! e P-URYSe IguUT Tged e RReR uRwegR AR et S St o adff emdifea et et

a. st S SARST, 2010
b. 3l & sAfkad, 2011
c. et & sk, 2012
d. st & SAfkai, 2013

Answer. ¢

57. o Werdr saasr 2022 iy wus:

a. Hide RRa anftr shuaie TwiwgT Hse
b. fsforea =1 Qfém =1

c. g&H, g M1 Hemw JENT

d. T HoE g

Answer. b

58. B TAT HRAT AT MO GRS IAATHT SEAAHAIS! TEEER 3HTR?



a. g HAY

b. fe Hare

c. THa I faery Harer

d. STt SNty SrRipH SivcasTant HHre

Answer. d

59. ASEAN =1 31ef:

a. SIRIGRA offp Oy S T AxF.
b. A S WY X TR 94
c. IR 3 Y s WA =
d. 3 A WY SR onffhed AR

Answer. ¢

60. ITF AT IguT Y I WA

a. IATGT Tl Ip
b. 39 a%

c. UHfd oM o
d. A= 9%

Answer. d

61. T AU T GREdIGd HIT HIOT SRar?

a. A
b. fifea
c. =R

d. g

Answer. a

62. T UHTR A R dredid @ Ufhddr S Iguara?

Answer. d

63. Pl HIUAl B J&fia mea?

a. Al
b. Brsfar
c. TAfereT
d. smyfdret

Answer. d

64. AFTEE SR {0 IRUANIET BIUMT STUd SEEER $R?

a. Pupdy



b. Td
c. TS
d. wrgfis

Answer. d

65. BT UkAER fdifa vafaRur geme RR IRad Sm?

a. FT
b. Jehich
¢. Iy
d. B

Answer. d

66. 94 USRI FeISlla IF HRUGRAT Uik HTT WU

a, Fsig@iem
b. JFereRH
c. B

d. RRameRE

Answer. d

67. Giwar fhar Riwar g dis ST 1% e Svara RBRYE Baar A1f S0l 3e?

a. gAY B1d aTRT

b. R dis i A6 G AHT
¢. B UF ARG TR

d. fezg amRy

Answer. d

68. TIE0T AT OO IUAR TR degl & A YBR W YT Wege Ruardl RBPRY dad Ugd S $Mg?

a. YIRJRR AR

b. Bad Uva BId Yl

c. PUSIH BId R

d. TPHM 60% 3fePigia A 58 AMCHISR TRl

Answer. d

69. UIRETS) IS e $1 3me?

a. Ko
b. Ka
c.P
d.K

Answer. d

70. IS HIUET IO T T SEAUATH] EEGNIS! SfwEdr w?

a. S

b. T8



c. fammm
d. 93s1

Answer. d

71. BicH ThHagHe =i BV geA e 1Y $U THME IBT o AR fhar Fwof sy rwdm?

a. IQ-UicHa Sgafferdt
b. ®TH AT

¢. Tarjd

d. g

Answer. d

72. g@Y HIUMET YT, wfAfear Bivar ufidy wRugrTEdt daRaTe readr S?

a. 3R

b. Tgfafrm
c. i

d. R

Answer. d

73. BT fhemed Meaa gt anfor o= 9=ft s Sfia Tmifay emea?

a. WS
b. TfpeHier
c. gt
d. e

Answer. d

74. 1880 80% T T ST MR

a. 1504
b. 1204
c. 1304
d. 1860

Answer. a

75.x =130 y = 85 (X+Y+Z) /2 = 330 Faid HieaT I e B 387

a. 130
b. 775
¢. 675
d. 875

Answer. b
76. THT SEE WK AT At 110 A SR, THUr I 8 A 3. @R o SfeRk e,
a.790

b. 840

c. 880



d. 820

Answer. ¢

77. TRYS el 8Fthe T SR A = 103

a.43.3 cm"2
b. 42.8 cm"2
c.41.4 cm”™2
d. 39.8 cm”2

Answer. a

78. Wiehid AfTBAYT T8I WA JMeT X+3%2-5+8%16=0

b.3
c.2
d.-3

Answer. a

79. 53 ot cad wUS 117

a. 220
b. 110
¢. 250
d. 80

Answer. a

80. THT TR e I 1100 3R, THT SHTSTSA ATl HAS fobell SRIET?

a. 7700
b. 7650
c. 7780
d. 7750

Answer. a

81. yd g TMem: 5x+12y=20 20x+6y=20

a. 10/7.0
b. 4/7.0
c.5/4.0
d. 12/7.0

Answer. a

82.12-4+11x3+6="7



Answer. d

83. Wrella @Y @f g =ier (133-1+35+2)

a. 13
b. 12
c. 14
d. 15

Answer. a

84. 36 3T 4531 LCM

a. 170
b. 160
c. 180
d. 150

Answer. ¢

85. 16 3nfor 24=1 HCF

a. 12
b. 6
c.8
d.3

Answer. ¢

86. 10 =t anfr 2 eqai fhAd 800 YT 318, THT aamd! o 100 . 318, TR Ul Gar fFud s 3m?

a. 60
b. 50
¢. 80
d. 90

Answer. a

87. a+b=3 a"2-b"2=9 a-b=?

c.6
d. 4

Answer. a

88. off& are AER Wedl &S hd

a. didtema
b. SR

c. Hisftemg
d. TAdR

Answer. b



89. 3. S5, AWIT IFUR, e arden faedt urg=an g

a.qd
b. U=
[
d.d=

Answer. b

90. OPEC 3 gf %1 wurt

a. GHRIR SifoqawyT Qi deeH.

b. 3ff$e TSIRA FHAHS Hrpd

c. SfffreRH Sifs h-gRifte Sire

d. SfffreRe S Teifer wamaiféT ¢

Answer. d

91. frr-ger e dRr gdgag A wRaifad &

a. IFA HIcH

b. lel -3
c. 3. T afdg

d. T 3. 5=

Answer. b

92. HHTH I o WA LT THA TH A R SR Wed R HHAH G JgY HE1?

a. AT
b. HTS
c. e
d. 321 3gT

Answer. a

93. 3dt 39 = fa YA 7¥F 4 M SR YA ¥ Age pHiGET 17 a1 3R¥d. 6 YU 6 B 3me?
a. 144t
b. 154
c. 164

d. 174

Answer. ¢

94.5147398572631586385224349 6 3N bl faww Tem 3Rd 1 @4 faww TR Aara?

a. Uel g 4

b.2

d.3



Answer. a

8|7
3113
10( 14| 1

95, g5 hHfh M.

a. 11
b.9
c.7
d.5

Answer. a

96. 1 d 70 A greTen Tt 6 Vedia?

a. 17
b. 18
c. 19
d. 20

Answer. a

97. SR M gtaR 120 .3, 3fTe TR ATl goi bt erde?

a.20 T4

b. 180U

¢. 240U

d. 40U

Answer. a

98.A,B,D, G, K. %8M G¢ PIUd 3M&R Ia?

a. P
b.K
c¢. N
d.O

Answer. a

99, UTIgIH BT Ueb Tez 3178 St Y AR@I ardal. Qe Bier=a" 8 ueigid 3ime?



1. (d)

11. (d)
21. (b)
31. (a)
41. (b)
51. (a)
61. (a)
71. (d)
81. (a)
91. (b)

b. @I

Answer. a

100. 5,000,000 F-HIER (TTUH) TGO 5 fiefiritex (B U 45,000,000 THEH 2

a. 045
b. 0.045
¢. 450
d. 45

Answer. d

2. (a)

12. (d)
22.(b)
32.(d)
42. (b)
52.(¢c)
62. (d)
72.(d)
82.(d)
92. (a)

3. (b)

13. (d)
23.(c)
33.(b)
43. (b)
53.(b)
63. (d)
73. (d)
83. (a)
93. (c)

4. (a)

14. (b)
24. (d)
34. (c)
44. (a)
54. (b)
64. (d)
74. (2)
84. (¢)
94, (a)

5. (d)

15. (b)
25.(b)
35. (a)
45. (c)
55. (a)
65. (d)
75. (b)
85. (c)
95. (a)

Test Answer

6. (c)

16. (a)
26. (d)
36. (b)
46. (a)
56. (¢)
66. (d)
76. (¢)
86. (a)
96. (a)

7. (c)

17. (¢)
27. (a)
37.(c)
47. (a)
57. (b)
67. (d)
77. (a)
87. (a)
97. (a)

8. (b)

18. (c)
28. (b)
38, (d)
48. (c)
58. (d)
68. (d)
78. (a)
88. (b)
98. (a)

9. (¢c)

19. (c)
29. (d)
39. (d)
49. (¢)
59. (¢)
69. (d)
79. (a)
89. (b)
99. (a)

10. (2)
20. (a)
30. (a)
40. (a)
50. (c)
60. (d)
70. (d)
80. (2)
90. (d)
100. (d)



